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Solution: The five sentences correspond to five linear equations. These equations can be
graphed on the grid of letters, where O in the bottom-left corner represents the origin, (0, 0). The
five lines have a total of eight intersections. These intersections are found at the letters P, I, N, K,
B, I, R, and D. This spells PINK BIRD, and the answer is FLAMINGO.

Author’s Comments: This was my first puzzle of this kind and I enjoyed creating it. Orig-
inally this puzzle was titled Animal Crossing, however one of the testers pointed out that in the
video game, Animal Crossing, there is a character who is a pink bird. There was some discussion
about whether this character’s name should be the final answer, however in the end I just changed
the title so that those unfamiliar with Animal Crossing wouldn’t be left out.


